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QUESTION 1

What is the purpose of partition pruning? 

A. To reduce the number of rows in a partition by moving objects with higher values to another partition 

B. To move partitions that are used infrequently to second tier storage 

C. To move all related objects together with their parent sysobjects 

D. To constrain DQL queries to a specific partition 

Correct Answer: D 

 

QUESTION 2

A user changed her Documentum user name because of a name change. You need to keep all the references in the
content repository correct after the change. How do you change the user name from the old to the new? 

A. use Documentum Administrator to delete the old user name and create a new user name 

B. use Documentum Administrator to reassign the old user name to the new user name 

C. use Documentum Administrator to inactivate the old user name and then create a new user name 

D. change the user name on the operating system and the content repository will automatically inherit the new user
name 

Correct Answer: B 

 

QUESTION 3

Which statement about audit trails is true? 

A. Users can view, modify, and delete their own audit trail entries. 

B. All audit trail entries are available to all users who have BROWSE permission to the audited object. 

C. Users must have purge audit privileges to remove audit trail entries. 

D. Only the installation owner has the ability to alter the audit trail. 

Correct Answer: C 

 

QUESTION 4

The client has set up a Federation headquartered in the US (governing repository) and distributed plants in Brazil, India,
and Australia (member repository). Each has it own local repository. The system is running, and users can search
across the repositories. A new Vice President of Finance has been hired in Australia and is added to the Australia
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repository. After three days the Vice President complains the corporate financial report in the US is not accessible. Why
can the Vice President not see the US report if they are in the management group and have the appropriate
permissions? 

A. The report permission set is not set to the ACL. 

B. The Vice President was created in the Australia repository only. 

C. The federation update job did not run to propagate the changes. 

D. The governing site projection is not configured correctly. 

Correct Answer: B 

 

QUESTION 5

Which statement is true about groups and roles? 

A. Groups and roles are the same. Role is a new name for group. 

B. Groups and roles both contain users and groups. 

C. Roles can only contain groups. Groups can contain users and groups and roles. 

D. Roles are only used in Webtop. Groups are only used in GUI clients. 

Correct Answer: B 

 

QUESTION 6

What is the recommended size for the swap or pagefile, independent of the operating system used for the Content
Server machine? 

A. The recommended size for the swap file OR the pagefile should be equal to the physical memory. 

B. The recommended size for the swap file AND the pagefile should be equal to the physical memory. 

C. The recommended size for the swap file OR the pagefile should be 2 or 3 times the size of the physical memory. 

D. The size of the swap file or pagefile does not matter because the Content Server has its own caching engine called
Branch Office Caching Services (BOCS). 

Correct Answer: C 

 

QUESTION 7

You have a client with offices on four different continents. They have a primary repository located in the United States,
which they want to share with all offices. The offices outside of the U.S. have very minimal IT support available. The
content is mostly read-only, with most of the updates done in the 

A. S. The same content is used at all the remote locations. The content files are very large, and take a long time to
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download at the remote locations. What repository configuration would require the least IT support at the remote offices
and still deliver a local copy of frequently-used content? 

B. place a Content Server at the U.S. site with distributed filestores at each remote site 

C. place a Content Server at the U.S. site and place Branch Office Caching servers at the remote sites 

D. place Content Servers at all sites and use replication to move the shared content from the primary repository to the
content servers at the remote sites 

E. place a content server at the US site with distributed filestores at each remote site and use replication to move the
shared content from the primary repository to the content servers at the remote sites 

Correct Answer: B 

 

QUESTION 8

How is Cache Hit Ratio defined? 

A. the percentage of time a resource was found in the shared memory of the database machine 

B. the percentage of time a resource was found on the disk where the content files are stored 

C. the percentage of time a resource was found on the disk where the database files are stored 

D. the percentage of time a resource was found in the shared memory of the Content server machine 

Correct Answer: A 

 

QUESTION 9

How can you change the polling interval of dm_agent_exec? 

A. by changing the value of database_refresh_interval in agent.ini 

B. by changing the value override_sleep_duration in agent.ini 

C. by adding an override_sleep_duration argument to the command line in the method verb of the agent_exec_method 

D. by adding a database_refresh_interval argument to the command line in the method verb of the agent_exec_method 

Correct Answer: C 

 

QUESTION 10

A user is not able to create a document in a repository. How do you diagnose the problem? 

A. check for sufficient swap space/virtual memory and check for sufficient database space 

B. check for sufficient file storage space and check for sufficient database space 
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C. check for sufficient file storage space and check for sufficient swap space/virtual memory 

D. check that the server log is not full 

Correct Answer: B 

 

QUESTION 11

If a servlet-based software module is not responding, what are two examples of log information provided in the servlet
container logs for the Java Method Server and similar modules? 

A. data file I/O failures and SQL query response timing 

B. standard output and http request/response 

C. user authentication failures and record of application events 

D. RPC command trace information and Content Server response timing 

Correct Answer: B 

 

QUESTION 12

A TCS-enabled repository has documents containing both legal and medical information about employees. 

Such documents should only be accessible only by people that belong to both the LEGAL and MEDICAL 

groups. 

Which ACL settings meet this requirement? 

E20-465 PDF Dumps | E20-465 Practice Test | E20-465 Exam Questions                                5 / 7

https://www.pass4itsure.com/e20-465.html
https://www.pass4itsure.com/e20-465.html
https://www.pass4itsure.com/e20-465.html


https://www.pass4itsure.com/e20-465.html
2024 Latest pass4itsure E20-465 PDF and VCE dumps Download

A. Exhibit A 

B. Exhibit B 

C. Exhibit C 

D. Exhibit D 

Correct Answer: A 

 

QUESTION 13

Which procedure can be used to duplicate a repository using a different repository ID from the source repository? 

A. cloning the repository and then using a DQL statement to modify the r_object_id value in the dm_docbase_config
object type 

B. cloning the repository and then modifying docbase_id in server.ini 

C. dumping and loading the repository and installing any DocApps in the target repository 

D. dumping and loading the repository and then using a DQL statement to update the r_object_id value in the
dm_docbase_config object type 

Correct Answer: C 

 

QUESTION 14

In the repository\\'s server config object, the secure_connect_mode attribute is set to "native." The client dfc.properties
file contains the parameter dfc.session.secure_connect_default = native. What is an accurate description of a
connection request from this client? 

A. An unsecure connection is preferred, but a secure connection is allowed. 

B. A secure connection is preferred, but an unsecure connection is allowed. 

C. Only an unsecure connection is allowed. 

D. An unsecure connection will be attempted if the secure connection fails. 

Correct Answer: C 

 

QUESTION 15

How would you enforce that the Content Server omit the usage of file extensions on stored files? 

A. set the use_extensions attribute to false on the dm_filestore object 

B. clear the a_content_type attribute of the dm_sysobject objects 

C. configure the accessing application to clear the full_format from the related dmr_content objects 
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D. set each dmr_containment object to have the a_contain_desc attribute set to false 

Correct Answer: A 
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